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M iR BA # &

no.1

No £ ¥R mE WE | B | B &% e
1 | BEREIS 1 = 115,000
2 | BR-HEMIE 1 = 99,440
3 | RKI&H®IE 1 =® 302,000
4 | REHETSE 1 = 202,820
5 | #EREE 1 =K 90,000
(& &) 809,260




M iR BA # &

no.2

No £ ¥R wE WE | B | B &% e
1 | BEREIS

SEERE 1 = 30,000

R—FRT VB E LGSHLLIE KR TFi+PB 1 = 25,000

ho8—WE 1 =® 25,000

Y IERERE £ (FERIBE 1 =K 30,000

SNEREFYE 1 = 5,000

[/ &) 115,000




M iR BA # &

no.3

No £ ¥R wE WE | B | B &% e
2 | BR-HEMIE

SRR T LGS65 303EwF 15.8 m 1,800 28,440

BEHAT12T Rk 1 = 25,000

EEAR—FRL PB t=12.5 1 =® 10,000

B A4hILiRRL t=8 1 F2n 8,000

R—FE PBt=125 1 = 8,000

BMRS B 1 = 15,000

ERBAERE 1 = 5,000

[/ &) 99,440




M iR BA # &

no.4

No £ ¥R mE B | B &% e
3 | RI&EH®IE

Hho 23— ET ekl £230%90 =® 18,000

B L& B S RAS t=12 = 10,000

BLE7A4hILiRRS t=8 F2n 8,000

o B—RIREfT 1314 2 S H11939%500%30 ® 15,000

BB R T ihdhil #230%60 Fan 20,000

B EAR—FiL PB t=12.5 = 8,000

B 714 HILiRRL t=8 =® 10,000

5 5B B R AR AR A 131 2 S B #13039%250%30 =® 18,000

Y IERERERR LT H-K51/4290%90 1RAK/$245%45 = 150,000

EHS=PIAE I t=12 = 25,000

RO B =K 10,000

ERBAERER = 10,000

[/ &) 302,000




M iR BA # &

no.5

No £ ¥ mE WE | B | Eff &8 e
4 | REHLETSE

B E-—)L/nREE SANGETSU/RE-2694 44.1 m 1,200 52,920

X# E-—LIOREE SANGETSU/RE-2701 15.3 m 1,200 18,360

FMLEH#HE E-—ILUDORREE SANGETSU/RE-2688 1 = 25,000

VARG 21 m 460 9,660

K TihiRE 10.4 m 600 6,240

K ERY—ME SANGETSU/PM-1408 10.4 m 4,400 45,760

BYBEREREEK RRO—ME 10.2 m 4,400 44,880

[/ &) 202,820






